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4 a)

b)

v = 180 km/h = 180/ 3,6 m/s = 50,0 m/s
s = 20m
t="7?
20

t="=""=0.40s

v 50m/s
V=7
s = 500m
t = 38,0s

S 500m

Vgem = 7 = 805 13,2m/s
v =14 m/s
s = 500m
t="7?

s 500 m
t_;_ 14m/s_ 36 s
v="7
s = 14 km
t = 37 min = 37/60h

S 14km
V== 5e0n 22,7 km/h = 23km/h

Lengte man is 8.5 cm
Afstand bal = 2 cm

Schaal 180/ 8.5 = 21 1:21
Sba|=21X2=42Cm

De snelheid op de grond is momentaan
Bij benadering is dat de laatste twee plaatjes
v=7
s=42cm=0,42 m
t=0,125 sec
s 042m

Z 0.125s

=3,36— = 34m/s
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Shal = 21X 6,1 = 128 cm = 1,3 m

v =7
s=1,3m
t=4x0,125 sec = 0,500 sec
v:£=ﬂ:2,6m/s
t 0,500sec

Sauto = 80361 — 80230 = 131km
Sstation = Okm

Strein = 530km

Slopen = 400m = 0,4km
Smetro = 23km

8:43 =8 43/60 h =8,72h  10:04 = 10 4/60 h = 10,07h
tauto = 10,07 — 8,72 = 1,35h = 1h21min

tstation = 26/ 60h = 0,43h

ttrein = 2h30min = 2,5h

Lipen = SN =5/ 60/ = 0,083

tmetro = 21min = 21/60h = 0,35h

s 131km

Vauto = 7 = 3ep = 97 04km /1
Vstation = ; = gjg;, =o0km/h
VTrein = % _ 5320;277 —212km/h
viopen = = 2/‘”2(’)7; - 4,8km/h
Vmetro = ; - % — 65,71km / h

Stot =S]1 +S2 +S3 +54 +S5 =131+ 0+ 530 + 0.4 + 23 = 684,4km
t, =t +t,+t, +t, +t; =1,35h+0,43h + 2,50+ 0,083h + 0,35k = 4,71h
v, =9
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